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English-100
Text Book: English For Today (NCTB)

Half Yearly and Annual Examination Class Test

Half Yearly Examination
Unite 1 2t Unit 2 #4 | BT T 2 (& vo 8 |

Annual Examination
Unite 3.4, 5. =B T ue (ATF 53 4 |

1. Letter (Capital/ Small) 10
2. Word making (any 10 out of 12) 10x2=20
3. Word meaning (any 10 out 0 12) 10x2=20
4. Sentencee making (any 5 out of 7) 5x2=10
5. Fill in the gaps (5) 5x2=10
6. Re-arranges (any 5 out of 7) 5x2=10
7. Rhyme (any 1 out of 2) 10
8. Translation (any 5 out 7) 5x2=10

Total =100
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